Algebra 2

Assignment

Name

Date Period

Write the slope-intercept form of the equation of the line described.

1) through: (—4, —1), parallel to y = -5x - 4

3) through: (4, 4), parallel to y =2x + 4

1
5) through: (3, —2), parallel to y = gx +3
7) through: (—1, 5), parallel to y = -8x — 4

9) through: (—5, 1), parallel to x =0

11) through: (—3, —4), parallel to y =3x + 3

13) through: (5, 3), parallel to y = %x +3

15) through: (—5, —4), parallel to y=x -2

17) through: (—2, —3), parallel to y=-x -4

7
19) through: (—2, —3), parallel to y = Ex -3

21) through: (—4, 2), parallel to y = - ix -5

23) through: (1, 1), parallelto y=x + 4

5
25) through: (4, 3), parallel to y = Zx +2

2) through: (—1, 2), parallel to y =2x -2

4) through: (O, 2), parallel to y = - %x -2
4
6) through: (3, —3), parallel to y = —gx -1

1
8) through: (5, —1), parallel to y = —gx -1
10) through: (4, 3), parallel to y =2

12) through: (—3, O), parallel to y = %x +5

14) through: (—4, 2), parallel to y = - %x +3

16) through: (3, —4), parallelto y=-x+5

18) through: (3, —1), parallel to y=3x -1

1
20) through: (5, 2), parallel to y = gx +3
3
22) through: (4, 0), parallel to y = - Zx -5
3
24) through: (4, 3), parallel to y = Zx -1

1
26) through: (4, —5), parallel to y = —Ex +1

ID: 1



27) through: (—1, —1), parallelto y=4x + 5
29) through: (—2, —4), parallel to y = 4x

31) through: (5, —5), parallel to y = -2

2
33) through: (5, 5), parallel to y = gx -2
1
35) through: (2, —1), parallel to y = Ex +4
37) through: (—4, O), parallel to y = -5x - 4
7
39) through: (—3, 5), parallel to y = - Ex +4
4
41) through: (4, —4), perp. to y = gx -3

3
43) through: (—5, 2), perp.to y = gx +2

45) through: (5, 0), perp.to x =0
47) through: (3, —2), perp. to x =0

49) through: (—5, —1), perp.to y=-x+2

3
51) through: (3, —4), perp. to y = 7x +2

28) through: (5, —2), parallel to y = %x +2
1
30) through: (—1, 1), parallel to y = —Zx
4
32) through: (—2, 1), parallel to y = —gx -1
7
34) through: (—4, —2), parallel to y = Zx -2
1
36) through: (4, 4), parallel to y = — Zx +4
1
38) through: (5, 1), parallel to y = —gx +5
3
40) through: (2,2), parallel to y = Ex -4
2
42) through: (—4, 5), perp.to y = gx +4
1
44) through: (1, 5), perp.to y = —Ex +2
1
46) through: (3, 0), perp.to y = Ex +1

5
48) through: (—5, 2), perp.to y = ;x +2
50) through: (—1, —3), perp.to x =0

2
52) through: (2, —3), perp. to y = gx -5



5
53) through: (5, —4), perp.to y = Ex -5
55) through: (3, 2), perp. to y = -x

4
57) through: (4, —5), perp. to y = 7x -2

59) through: (—5, —5), perp.to y=-5x+3
61) through: (2, —5), perp.to y = %x +1
63) through: (4, —1), perp.to y=-7x+5
65) through: (2, —2), perp.to y=-x+5

67) through: (4, 3), perp.to y=4x -3

4
69) through: (-4, —4), perp. to y = —x1

2
71) through: (4, —3), perp. to y = Ex -3
73) through: (—4, 3), perp.to y=4x +2
5
75) through: (—5, 4), perp.to y = 7x -3

77) through: (—3, —3), perp.to y=3x-3

79) through: (2, —4), perp.to y=2x-15

54) through: (5, 0), perp.to y=x+4

56) through: (2, 0), perp.to y=x-15

1
58) through: (1, —5), perp. to y = ;x -5
4
60) through: (—3, —4), perp. to y = —gx -3
62) through: (2, 0), perp.to y=2x+3
1
64) through: (—1, 5), perp. to y = Ex +2

2
66) through: (—2, —1), perp.to y = —gx +4
68) through: (—4, 0), perp.to y=-2x+3

3
70) through: (3, 2), perp. to y = —Ex +4

1
72) through: (—1, O), perp. to y = Zx
74) through: (5, 3), perp.to y=-x+4

2
76) through: (—3, —5), perp.to y = Ex -3
3
78) through: (3, —2), perp.to y = gx -2

3
80) through: (—3, 2), perp.to y = gx -2



Algebra 2 Name ID: 1

Assignment Date Period

Write the slope-intercept form of the equation of the line described.

1) through: (—4, —1), parallel to y = -5x - 4 2) through: (—1, 2), parallel to y =2x -2
y=-5x-21 y=2x+4
3) through: (4, 4), parallel to y =2x + 4 1

1
4) through: (0, 2), parallelto y=-—x-2 y=—-—x+2
o ) through: (0, 2), p y=-7 y=-3

1 1 5 4 4
5) through: (3,-2), parallel to y = gx +3 y= gx - 2%) through: (3, -3), parallel to y = —gx -1 y=- gx +1

7) th h: (-1, 5 llelto y=-8x -4 1 1
) throug ( ’ )’ paratictto x 8) through: (5, —1), parallel to y = —gx— 1 y= —gx

y=-8x-3
9) through: (—5, 1), parallel to x =0 10) through: (4, 3), parallel to y =2
x=-=5 y=3
11) through: (-3, -4 llel to y=3x+3 4 4
) through: (=3, ~4), parallel to y = 3x + 12) through: (-3, 0), parallel to y=—x+5 y=—x+4
y=3x+5 3 3

3 3
13) through: (5, 3), parallel to y = %x +3 y= gx 14) through: (—4, 2), parallel to y = - %x +3 y=- Ex -4

15) through: (—5, —4), parallel to y=x -2 16) through: (3, —4), parallel to y=-x+5
y=x+1 y=-x-1

17) through: (—2, —3), parallel to y=-x -4 18) through: (3, —1), parallel to y=3x -1
y=—x—5 y=3x—10

7 7 1 1
19) through: (—2, —3), parallel to y = Ex -3 y= Ex 20) through: (5, 2), parallel to y = gx +3 y= gx +1

1 1 3 3
21) through: (—4, 2), parallel to y = — Zx -5 y=- 2221-) Ithrough: (4, 0), parallel to y = — Zx -5 y=- Zx +3

23) th h: (1,1 llel = 4
3) through: (1, 1), parallel to = x + 24) through: (4, 3), parallel t0y=%x— 1 y=§x

y=x 4

5 5 1 1
25) through: (4, 3), parallel to y = Zx +2 y= Zx — 226) through: (4, —5), parallel to y = —Ex +1 y=- Ex -3



27) through: (-1, -1 llel to y =4 3
7) throug ( ’ )’ parallel to y = 4x +5 28) through: (5, —2), parallel to y = i)c +2 y=—x-5
y=4x+3 5 5

1 3

29) through: (-2, -4 llel to y = 4 1
) throug (-2, -4), parallel 1o y = 4x 30) through: (-1, 1), parallel to y = _Zx y= _ZX+Z

y=4x+4

31) through: (5, -5 llel to y = -2 4 4 5
) rougs ( ’ )’ parafetioy 32) through: (—2, 1), parallel to y = —gx -1 y= —gx -3
y=-

2 2 7
33) through: (5, 5), parallel to y = gx -2 y= gx + 334) through: (—4, —2), parallel to y = %x -2 y= Zx +5

1 1 1 1
35) through: (2, —1), parallel to y = Ex +4 y= Ex —36) through: (4, 4), parallel to y = — Zx +4 y=- Zx +5

37) through: (-4, 0 llelto y=-5x-4 1 1
) throug ( ’ )’ parafictto y o 38) through: (5, 1), parallelto y=-—x+5 y=-—x+2
y=-5x-20 5 5

7 1 3
39) through: (—3, 5), parallel to y = — %x +4 y=- 594(}) +2111r0ugh: (2,2), parallel to y = %X -4 y= Ex -1

4 5 2 5
41) through: (4, —4), perp.to y = gx -3 y=- Zx + ¥2) through: (—4, 5), perp.to y = gx +4 y=- Ex -5

3 5 19 1
43) through: (—5, 2), perp.to y = gx +2 y=- gx - 434) through: (1, 5), perp.to y = —Ex +2
y=2x+3
45) through: (5, 0 .tox=0 1
) through: (5, 0), perp. to x 46) through: (3, 0), perp. to y = —x + 1
y=0 2
y=-2x+6
47) through: (3, -2 .tox=0 5 7
) through: (3, -2), perp. to x 48) through: (=5, 2), perp.to y=-x+2 y=-—x-5
y=-2 7 5
49) through: (—5, —1), perp.to y=-x+2 50) through: (—1, —3), perp.to x =0
y=x+4 y=-3

3 7 2 5
51) through: (3, —4), perp. to y = 7x +2 y=- gx + 32) through: (2, —3), perp.to y = gx -5 y=- Ex +2

2-



2 4) th h: .toy= 4
53) through: (5, -4), perp. t0y=%x—5 y=—fx—£ ) through: (5, 0), perp.to y =+

5 y=-x+5
55) through: (3, 2), perp. to y = —x 56) through: (2, 0), perp.to y=x-5
y=x-1 y=-x+2

4 7 1
57) through: (4, —5), perp. to y = 7x -2 y=- Zx + 58) through: (1, —5), perp.to y = ;x -5

y==Tx+2

1
59) th h: (-5, - toy=- 3 y=—x- 4 5 1
) throug ( 5, 5), perp.to y=-5x+3 y 5x é()) through: (_3’ _4), perp. o y = _gx 3 - Zx -+

1
1 62) th h: (2,0 toy=2x+3 y=—-—x+1
61) through: (2, -5), perp. to y = gx +1 ) through: (2, 0), perp. to y=2v+3 y 2 i

y=-5x+5
63) through: (4, —1) perp.to y=-7x+5 y= lx _ E 1
) 7 64) through: (-1, 5), perp.to y = Ex +2
y=-3x+2

65) th h: (2, -2 toy=- 2 3
) throug 4( =2), perp. to y = =x+5 66) through: (-2, -1), perp. to y = -3F +4 y= P +2
y=x-

1 1
67) through: (4, 3), perp.to y=4x-3 y=- Zx +4 68) through: (-4, 0), perp.to y=-2x+3 y= Ex +2

4 9 3 2
69) through: (—4, —4), perp.to y =— gx -1 y= Zx +79) through: (3, 2), perp.to y = — Ex +4 y= gx

2 3 1
71) through: (4, —3), perp. to y = Ex -3 y=- EX + 372) through: (—1, O), perp.to y = Zx

y=-4x-4
1
73) through: (—4, 3), perp.toy=4x+2 y=- Zx + 274) through: (5, 3), perp.to y=-x+4
y=x-2

5 7 2 9 37
75) through: (—5, 4), perp.to y = 7x -3 y=- gx - 36) through: (—3, —5), perp.to y = Ex -3 y=- Ex by

77) th h: (-3, -3 toy=3x-3 y=——x- 3 5
) through: (=3, =3), perp. to y = 3x Y 3x %8) through: (3, =2), perp. toy=gx—2 y=—§x+3

1
79) th h: (2, -4 toy=2x-5 y=-——x-3 3 5
) through: (2, -4), perp. to y = 2x Y 2x 80) through: (-3, 2), perp. to y = gx -2 y=- gx -3



